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https://www.youtube.com/watch?v=k_AWrqmrjvA
https://photos.app.goo.gl/2CHCvcJsjhifiawY7
https://docs.google.com/spreadsheets/d/1jNJ6mYsaF1h6w2AHGLPUkwHl1_NHIdLkM30R9i1Bl80/edit#gid=1840458066

- D'Nix

222N ,NNIN L |I'0
[min' ,'w X 17Y

TP N ,n7'n 7 nn
NYIl ,NON 791X

OX'"? ,.1 N LY 1Y

INIX 722 D'T'79N

n1dN 0TInnN - 'Y

nmin omnnn - 1hv

v - mint

NIDIN NOTINN - 721AN

nnin NnoTaAan - Ji'o

nayTn - IR

ndIN NOTIAaNn -7INN

QNN NoTANn - a'7'n

nyTn - n'n

NV IX V'S NIYY? DD XA NN

110 DVYIX 97 NN DN

17w/ mine

novnY? Ay NI Ny

anni n7'a A

20"% A i NN

[I'O1 7a1aX AMIX

o

o ,TY 0N

0o 'I'T oy !

Q179 1 nn
ox",

714/2021 N1y'wnn o'y



+  xNxTE: [ X @l @ \ X legobsl G | X Mo @ | x vnon B \ x onen & \ X jonnn & | x wooo B | X PostAtt (@) | X Whats - g

H . = % nxtprograms.com/NXT2/ball_shooter/stepshtml | noamnay A O
‘ - -

i

Stamp Spotlight Eraser  Forn

2 Talking: itamar feldman

W Stop Share

i - oo e

noavnn VAW

apgN

12/4/2021 \1iy'v



+ | X saonamaypon B x vomavrwapes B X avwapos ot B ‘ X

@ %2

- O
poNoIN‘n N we | X or-omn o yaw B | X @ Whatsapp ) e

docs.google.com/forms/d/e/1 FAIpQLScUgyVWRhrtw5aE3Gea_pHdEumvG2TUOnzeskCsmxwileFaWQ/viewform & 1)

W Stoo Share -

o & 0 o ¢

Spotlight Eraser  Format  Undo

- 0730 AR M DR 0PN

N Y-n

V% :&. \/;j% @ E;Lt') = }60 _’ + _;_:tzm o e

N N X-n

ﬁ "LB @ ﬂy — yg + @Jmnnnmmmm

o e Y, X n 207 Tan wemna wmn e opmn
Xo * :

Vox , Xa nnvnm VO0y, Ya nivnn 7@ 2377 '7yenn

T IR NI (t) parne nisenn

2 W

N2 ,01WY 00 37U DNNARYE YR A 200 (2) by 7'nma, 142 DIZNW DR A (3
* 97 van? wTY Nt |ar
V4 ir7

12/04/2021




2/5/2021 yw

Y a2 D XA 2y D ,0M1m Y7 A DX ')
VO0x ayiag nintan w2 aqar X ava im

2'nN' N'YVAN Y 'Y AxIND va A Yo axa um
VOya

ONIYA DX AYIINN NXIIVN
Y = v0y*t-5tA2
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UMY vOxA2+v0yA2  Tan aae

GlowScript 3.1 VPython

box(pos=vector(-1,15,0), size=vector(2,30,4))
box(pos=vector(60,-1,-1), size=vector(120,2,4))
myball = sphere(pos=vector(0,0,0), color=color.red)
by = sphere(pos=vector(0,0,0), color=color.yellow)

bx = sphere(pos=vector(0,0,0), color=color.blue)

t=0
alfa=10
v0 = 4.67

v0Ox = v0*cos(radians(alfa))

v0y = v0*sin(radians(alfa))

yisnot0 = True

while(yisnot0):

rate(10) # rate is 0.1 sec

VO aax T
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t=t+0.1 # adding 0.02 sec to time (slow moving X5)
bx.pos.x = vOx*t # ball X velocity is constant

by.pos.y = vOy*t -5*t*t # ball Y velocity is changing == Acceleration

myball.pos.x = vOx*t # my ball X

myball.pos.y = vOy*t -5*t*t # my ball Y

if(myball.pos.y <= 0): # stop the loop if my ball Y position is 0

yisnot0 = False

print(myball.pos.x)
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X=v0x*(v0y/5)
X =V0*cos(30)*V0*sin(30)/5
VOo=5
alfa=30, X=2.165m
alfa=0 X=0
alfa=5 X=0.428 m
alfa=10 X =0.846 m
alfa=15 X=1.243



alfa=20 X=1.604
alfa=25 X=1.914
alfa=30 X=2.165
alfa=35 X=0
alfa=40 X=0
alfa=45 X=0
alfa=50 X=0

alfa=90 X=0
alfa=45,X=2.5
X=1m

https://phet.colorado.edu/sims/html/projectile-motion/latest/pr
ojectile-motion_en.html
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https://phet.colorado.edu/sims/html/projectile-motion/latest/projectile-motion_en.html
https://phet.colorado.edu/sims/html/projectile-motion/latest/projectile-motion_en.html
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1) X = VOx*V0y/5
2) X = V0*2*sin(alfa)*cos(alfa)/5

VOxy TnX 27 xapa VOx = VOy ™= ,ni7yn 451 Xin "0 DX

X = (VOxy”*2)/5

V0 = sqrt(VOxy”*2+VOxy”2
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